
Ενδεικτική λύση 

 

4.1 

 

 

 

 

(Mονάδες 5) 

 

4.2 

𝑇𝜊𝜆 = 𝜇 ∙ 𝛮 

𝛴𝐹𝑦 = 0
 
⇒𝛮 − 𝐹𝑦 − 𝐵 = 0

 
⇒𝑁 = 𝐹 ∙ 𝜂𝜇450 +𝑚 ∙ 𝑔

 
⇒ 

𝑁 = 20 Ν ∙ 0,7 + 2 Kg ∙ 10  m s2⁄
 
⇒ 

𝑵 = 𝟑𝟒 𝐍 (𝟏) 

(Mονάδες 5) 

𝑇𝜊𝜆 = 𝜇 ∙ 𝛮
(1)
⇒    𝑇𝜊𝜆= 0,2 ∙ 34𝑁

 
⇒   𝑻𝝄𝝀 = 𝟔, 𝟖 𝐍 

(Mονάδες 3) 

4.3 

 𝛴𝐹𝑥 = 𝑚 ∙ 𝑎
 
⇒ 𝐹𝑥 − 𝑇𝑜𝜆 = 𝑚 ∙ 𝑎

 
⇒ 𝐹 ∙ 𝜎𝜐𝜈450 − 𝑇𝑜𝜆 = 𝑚 ∙ 𝑎

 
⇒  

20𝛮 ∙ 0,7 − 6,8𝑁 = 2𝐾𝑔 ∙ 𝑎
 
⇒ 𝒂 = 𝟑, 𝟔 𝐦

𝐬𝟐⁄
                                                           (Mονάδες 3) 

𝜐 = 𝛼 ∙ 𝛥𝑡
 
⇒ 𝜐 = 3,6𝑚 𝑠2⁄ ∙ 5𝑠

 
⇒ 𝝊 = 𝟏𝟖 𝐦/𝐬                                                          (Mονάδες 2) 

𝛥𝑥 =
1

2
𝑎 ∙ (𝛥𝑡)2

 
⇒𝛥𝑥 =

1

2
 3,6𝑚

𝑠2⁄
∙ (5𝑠)2

 
⇒𝜟𝒙 = 𝟒𝟓 𝐦                                          (Mονάδες 3) 

 4.4   

 

 

 

 

 

 

 

 

(Mονάδες 4) 
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